
Installation Instructions

Power Tilt Plasma/LCD Wall Mount 
Model: EU65PWT

CAUTION:
DO NOT RETURN THIS PRODUCT TO THE STORE OR WEB 
SITE YOU PURCHASED IT FROM!

IF YOU BELIEVE THIS MOUNT IS DEFECTIVE, HAS 
MISSING OR BROKEN PARTS, OR IF YOU ARE HAVING 
DIFFICULTY INSTALLING THIS MOUNT TO YOUR WALL 
OR FITTING YOUR TV, PLEASE CONTACT OUR COMPANY, 
LEVEL MOUNT, DIRECTLY. 

Dial +44 80700429781 or email us at CustomerSupport@
ElexaUSA.com any time of the day or night for a quick and 
efficient solution to your problem.

Our trained Customer Service Department is open 24 hours 
a day, 7 days a week, every day of the year and is prepared 
to assist you in both English and Spanish.

Please also visit our Web Site at www.LevelMount.com 
for assistance.

Features:
• Integrated Bubble Level
• Durable Steel Construction 
• Easy 2 Piece Mounting 
• Remotely Tilts down (up to 15 degrees) 
• Locking Lever
• Stud Finder Included

Mounting Equipment Included:

  Bag  REF Description QTY  
 1 A Phillips M4 x 12 Bolt 4
   B Phillips M4 x 20 Bolt 4
  C Phillips M4 x 30 Bolt 4
 2 D Phillips M5 x 12 Bolt 4
   E Phillips M5 x 20 Bolt 4
  F Phillips M4 x 30 Bolt 4
 3 G Phillips M6 x 12 Bolt 4
   H Phillips M6 x 24 Bolt 4
  I Phillips M4 x 35 Bolt 4
 4 J Phillips M8 x 25 Bolt 4
   K Phillips M8 x 40 Bolt 4
 5 L M4/M5 Washer 4
   M M4/M5 Spacer 4
 5 N M6/M8 Spacer   4
 1 O M4 Lock Washer  4
 2 P M5 Lock Washer  4
 3 Q M6 Lock Washer 4
 4 R M8 Lock Washer 4
   S 3’’ Hex Screw 6
 6 T Hex Washer  6
   U Concrete Anchor 6
  V Hex Wrench 1
                W       M5 x 48 Bolt      8
    7          X        M5 Hex Nut                 8
                Y        M5 Washer                   8

Tools required for attachment to stud: 
1/2’’ (12mm) Socket Wrench (Included)
Stud finder (Included)
Tools required for attaching to concrete: 
Electric drill 
1/2’’ (12mm) Masonry Bit

       DETERMINE CORRECT BOLT

Caution: Carefully thread the bolt into the back of your 
LCD to determine which bolt is to be used. If there is any 
resistance remove the bolt immediately.

       ATTACH TO TV

       ATTACH TV TO WOOD STUDS

NOTE: Due to the weight of the LCD/Plasma TV’s, it is 
necessary to mount the Wall Plate to at least 2 studs.

Locate stud with Stud Finder
(See manual included)

       ATTACH TV TO CONCRETE

U

English

1

2

3a

(USE SPACER 
ONLY IF NEEDED)

LOCK WASHER

BOLT

TILT ARM

(USE SPACER 
ONLY IF NEEDED)

LOCK WASHER

BOLT

WASHER

TILT ARM

M4 OR M5 BOLT

M6 OR M8 BOLT

S
T

S
T

3b

Features:
• Integrated Bubble Level
• Durable Steel Construction 
• Easy 2 Piece Mounting 
• Remotely Tilts down (up to 15 degrees) 
• Locking Lever
• Stud Finder Included

Mounting Equipment Included:

  Bag  REF Description QTY  
 1 A Phillips M4 x 12 Bolt 4
   B Phillips M4 x 20 Bolt 4
  C Phillips M4 x 30 Bolt 4
 2 D Phillips M5 x 12 Bolt 4
   E Phillips M5 x 20 Bolt 4
  F Phillips M4 x 30 Bolt 4
 3 G Phillips M6 x 12 Bolt 4
   H Phillips M6 x 24 Bolt 4
  I Phillips M4 x 35 Bolt 4
 4 J Phillips M8 x 25 Bolt 4
   K Phillips M8 x 40 Bolt 4
 5 L M4/M5 Washer 4
   M M4/M5 Spacer 4
 5 N M6/M8 Spacer   4
 1 O M4 Lock Washer  4
 2 P M5 Lock Washer  4
 3 Q M6 Lock Washer 4
 4 R M8 Lock Washer 4
   S 3’’ Hex Screw 6
 6 T Hex Washer  6
   U Concrete Anchor 6
  V Hex Wrench 1
                W       M5 x 48 Bolt      8
    7          X        M5 Hex Nut                 8
                Y        M5 Washer                   8

®

D3012010bda.indd   1D3012010bda.indd   1 10.10.2008   8:05:43 Uhr10.10.2008   8:05:43 Uhr



      SLIDE TOGETHER

TILTING THE DISPLAY

ATTACHING CORD MANAGEMENT

LOCKING THE DISPLAY

ATTACHING EXTENSION ARMS

-15 0 15

Cord Management

DOWN Arrow 
(Tilt Down)

UP Arrow (Tilt up)

Upper Extension
Arms

Lower Extension
Arms

Locking
 Lever

LOCK WASHER

BOLT

EXTENSION 
    PLATE

TILT ARM

HEX NUT

4

®

D3012010bda.indd   2D3012010bda.indd   2 10.10.2008   8:05:50 Uhr10.10.2008   8:05:50 Uhr


